Corrective Assignment 6.3

Name:

Write the slope-intercept form of the equation of the line described.

) 7 , | 3
1) through: (=2.2). parallel to y = —SX+ 2 2) through: (2. -1). parallel to y = —Sx+ 1

) 7
3) through: (-5.-5). parallel to y =%x +1 4) through: (2. 2). parallel to y =% +1

. 2 ) 3
5) through: (=5. 0). parallelto y=——x-5 6) through: (4. 1). parallel to }*=Zx



7) through: (2. —4). perp. to y = X

: 2
9) through: (2. 4). perp. to y=3x

) ‘ 1
8) through: (-3.5). perp. to y =—x

10) through: (-4, 0). perp.to y=-2x

Directions: Tell whether the lines are parallel, perpendicular or neither.

11)a:-2x+y=7

b:x—2y=-6
c:x+2y=-4
7

1) y=—?x—5

5 1::_::‘-_')
) y=-73

9) y=——=x+1

12) a: -2x + 3y = -12

b:3x—-2y=2
c:2x—-3y=6
2) 2i-4 3) L4
&) VyV=——X— y=—X—
] 3 y=3
7) y=-2x
6) y=—x-2 ) y=-2x
10) y=—x+2 11) ais perp.toc
T2

B
4) y=—x-5
2

8) y=-2x-1

12) ais parallel to c



